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(A) (B) (C) = (A)+(B) ©) /(N
1 HBINHEEE 10, 681 2,463 13, 144 123. 1%
+ K 6, 106 3, 097 9,203 150. 7%
AR EETR 4,575 A 634 3,941 86. 1%
2 BERMAHEES 183 A 68 115 62. 8%
+ K 43 A 43 0 R
JEERIK PERD 140 A 25 115 82. 1%
3 EEEZXxHES 1,017 455 1,472 144. 7%
+ K 990 453 1,443 145. 8%
FEMRKEETR 27 2 29 107. 4%
4 HFEBEE 348 371 125 208. 3%
+ K 348 377 725 208. 3%
JEARIK BE 0 0 0 —
5 RIAEXE 0 44 44 EE 42
+ K 0 44 44 L
JEARIKEE D 0 0 0 —
6 KEEIHEXE 0 0 0 —
o N 0 0 0 —
JEARIK BE 0 0 0 —
a Hi 12, 229 3,211 15, 500 126. 7%
+ K 7,487 3,928 11, 415 152. 5%
AR EETR 4, 742 A 657 4, 085 86. 1%
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